[bookmark: _GoBack]Maths Learning intention – Multiply and divide decimals by whole numbers
Look at the problems below. Us your knowledge of multiplying and dividing decimals by whole numbers to work out the answers to each of the problems.
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Notes and Guidance Varied Fluency

Children use concrete resources to multiply decimals and I Use the place value counters to multiply 1212 by 3
explore what happens when you exchange with decimals Complete the calculation alongside the concrete representation

Tw | o § Tenn | tumdodhe | Troummdte
Children use their skills in context and make links to money

and measures.

I Ajar of sweets weighs 1213 kg.
How much would 4 jars weigh?

Mathematical Talk

O D A =
Which is bigger, 0.1,0.01 or 0.001? Why?

How many 0.1s do you need to exchange for a whole one? Ul Rosie is saving her pocket money. Her mum says,

| “Whatever you save, | will give you five times the amount.” ]

Can you draw a bar model to represent the problem?

If Rosie saves £2.23, how much will her mum give her?
Can you think of another way to multiply by 57 (e.g multiply If Rosie saves £7.76, how much will her mum give her? How much
by 10 and divide by 2). will she have altogether?

P Type here to search eachers (T) Q) PowerPoint Present. Q) ENG




image2.png
3 Microsoft Offce Home X | @ Email - Lincoin-Johnson, Nicole -~ X

<« C (Y @ whiterosemaths.com/wp-content/uploa

PowerPoint Presentation 24 /38 | — 100% +

Reasoning and Problem Solving

Whitney says, /~ When you multiply a Chocolate eggs can be bought in packs of

number with 2 decimal 1,60r8
places by an integer, What is the cheapest way for Dexter to

the answer will always buy 25 chocolate eggs?
have more than 2
pusiepti @
1 chocolate egg

Do you agree? 52p

Explain why.

Fillin the blanks
6 chocolate eggs

0000
6666

8 chocolate eggs
£4
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Children continue to use concrete resources to divide decimals . Divide 3.69 by 3
and explore what happens when exchanges take place. Use the diagrams to show the difference between grouping and by
sharing?
Children build on their prior knowledge of sharing and PR S P PSP PPy ooy
grouping when dividing and apply this skill in context. % © |00 000
L 00 |©00
- 0 |00 000
Use these methods to complete the sentences,
3 ones divided by 3is ones.
Mathematical Talk 6 tenths divided by 3 is tenths.
9 hundredths divided by 3 is hundredths.
Ave we grouping or sharing? Therefore, 369 divided by 3 is

I Decide whether you will use grouping or sharing and use the place
value chart and counters to solve:
755+5 816+ 3

How else could we partition the number 369? (For example,
2 ones, 16 tenths and 9 hundredths)

How could we check that our answer is correct? W Amir solves 6.39 + 3 using a
part whole method.

Use this method to solve
o 848+2 69+3 612+3
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When using the counters to answer 3.27 | Possible answer Children may try A
divided by 3, this is what Tommy dic: as8and Cas 2

but will realise that

T Tommyis
Ones Tenths Hundredths incorrect because

this cannot
so ] BemETEee

hundredth to the complete the
tenths Use the clues to complete the division. whole division

(-) He should have
exchanged the 2 Therefore Alis 4,B

Tommy says, tenths for 0 B Bl  s3andcist
hundredths to get

Ionly had 2 countersinthe ) | an answer of 109

0,3
tenths column, so | moved A C .. B . 2 41 3

(00 one of the hundredths so *
4 each column could be
grouped in 3s.

Do you agree with what Tommy has
done? Explain why.
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